
  
 

 

Webasto Thermo & Comfort N.A., Inc. · 15083 North Road • Fenton, Michigan 48430                                                                                             Page 1 
For Technical Assistance in USA Call: (800) 860-7866 • In Canada Call: (800) 667-8900 
Visit us on the Web at: www.webasto.us 

 

Pr
o

d
u

ct
 In

fo
rm

at
io

n
 

 

 
  
   
 

       
 = SmarTemp Control 2.0 Kit             
 = SmarTemp Control fx 2.0 Kit 
 = Heater Kit with SmarTemp Control and Control fx 2.0         
 = SmarTemp Spare Parts 

          
SmarTemp Control 2.0 Kits 

SmarTemp Control Kit AT 2000ST Retrofit Blister Package Contents 

P/N Description & Kit Contents Qty. Note 

5010628C SmarTemp Control 2.0 Aftermarket Retro fit Kit for AT 
2000ST 

1 * Service adapter sold separately 

SmarTemp Control 2.0 1   

SmarTemp Mounting Screws #4 x 1” 2   

Jumper Harness SmarTemp Control for AT 2000ST 1   

Install / Operation Instructions SmarTemp Control 2.0 1   

* 5010685A - SmarTemp Control Micro USB Service Adapter 
 

SmarTemp Control Kit AT 2000STC Retrofit Blister Package Contents 

P/N Description & Kit Contents Qty. Note 

5013700A SmarTemp Control 2.0 Aftermarket Retro fit Kit for AT 
2000STC 

1 * Service adapter sold separately 

SmarTemp Control 2.0 1   

SmarTemp Mounting Screws #4 x 1” 2   

Jumper Harness SmarTemp Control for AT 2000ST 1   

Install / Operation Instructions SmarTemp Control 2.0 1   

* 5010685A - SmarTemp Control Micro USB Service Adapter 
 

SmarTemp Control 2.0 Kit AT 2000ST | EVO 3900/5500 | EVO 40/55 Blister Package Contents 

P/N Description & Kit Contents Qty. Note 

5010624C SmarTemp Control 2.0 Kit for:  
AT 2000ST | EVO 3900/5500 | EVO 40/55 1 

* Jumpers / service adapter sold 
separately 

SmarTemp Control 2.0 1   

Screws #4 x 1" 2   

* 5010612B - Jumper harness SmarTemp Control for AT 2000ST 
* 5012138A - Jumper harness SmarTemp Control for EVO AT 3900/5500 | EVO AT 40/55 

* 5010685A - SmarTemp Control Micro USB Service Adapter 

 
 
 
 

Category: Heater 
 

Description: SmarTemp 2.0 Package Contents & Part Numbers 

 
 

Document Number: PI110BC 
 
Date: 10/3/2016 
Rev: 3/22/2021 
 



  
 

 

Webasto Thermo & Comfort N.A., Inc. · 15083 North Road • Fenton, Michigan 48430                                                                                             Page 2 
For Technical Assistance in USA Call: (800) 860-7866 • In Canada Call: (800) 667-8900 
Visit us on the Web at: www.webasto.us 

 

Pr
o

d
u

ct
 In

fo
rm

at
io

n
 

 

 = SmarTemp Control 2.0 Kit             
 = SmarTemp Control fx 2.0 Kit 
 = Heater Kit with SmarTemp Control or Control fx 2.0         
 = SmarTemp Spare Parts 

 

AT 2000ST Heater Kit with SmarTemp Control 2.0 

P/N Description & Kit Contents Qty. Note 

5010609B AT 2000ST 12V D Sleeper kit with SmarTemp Control 2.0 1 * Service adapter sold separately 

* 5010685A - SmarTemp Control Micro USB Service Adapter 

 
SmarTemp Control 2.0 Spare Parts 

Spare Parts 

P/N Description 
  

5010612B Jumper harness SmarTemp Control 2.0 for AT 2000ST 

5011103A SmarTemp Control / fx (bag of spare mounting screws, caps and warning label) 

5011381B Install and Operation Instructions SmarTemp Control 2.0 

 
SmarTemp Control fx 2.0 Kits 

SmarTemp Control fx Kit Retail Blister Package Contents 

P/N Description & Kit Contents Qty. Note 

5010633D SmarTemp Control fx 2.0 kit 1  
SmarTemp Control fx 2.0 1   

Screws #4 x 1" 2   

Install / operation Instructions SmarTemp Control fx 2.0 1   

Label (Auto start device for the auxiliary heater) 1  
Wiring harness adapter SmarTemp fx 2.0 1   

NOTE: DBW Series heaters must use a relay; see SmarTemp Control fx 2.0 installation instructions for information. 

 

SmarTemp Control fx 2.0 Kit 

P/N Description & Kit Contents Qty. Note 

5010753D SmarTemp Control fx 2.0 kit  1 Kit 

 SmarTemp Control fx 2.0 1   

 Screws #4 x 1" 2   

 Install / Operation Instructions SmarTemp Control fx 2.0 1   

 Label (Auto start device for the auxiliary heater) 1  
NOTE: DBW Series heaters must use a relay; see SmarTemp Control fx 2.0 installation instructions for information. 

 
 
 
 
 
 



  
 

 

Webasto Thermo & Comfort N.A., Inc. · 15083 North Road • Fenton, Michigan 48430                                                                                             Page 3 
For Technical Assistance in USA Call: (800) 860-7866 • In Canada Call: (800) 667-8900 
Visit us on the Web at: www.webasto.us 

 

Pr
o

d
u

ct
 In

fo
rm

at
io

n
 

 

 = SmarTemp Control 2.0 Kit             
 = SmarTemp Control fx 2.0 Kit 
 = Heater Kit with SmarTemp Control or Control fx 2.0         
 = SmarTemp Spare Parts 

 

Heater Kits with SmarTemp Control fx 2.0 and SmarTemp Control 2.0 

P/N Description & Kit Contents Qty. Note 

5013465A Tandem 717 12V D kit AT 2000STC / TTEVO with rheostat for air 
heater and SmarTemp Control fx 2.0 for TTEVO 

1  

5013464A Tandem 717 12V D kit AT 2000STC / TTEVO with SmarTemp 
Control 2.0 and SmarTemp Control fx 2.0 

1 
 

 
SmarTemp Control fx 2.0 Spare Parts 

Spare Parts 

P/N Description   

5010753D 12 / 24V SmarTemp Control fx 2.0 Timer Base 

5011100A 1529 / 1531 - Mounting Plate for SmarTemp Control fx 2.0 Timer 

5011382A Install / Operation Instructions SmarTemp Control fx 2.0 

5011103A SmarTemp Control 2.0 fx (bag of spare mounting screws, caps and warning label) 

5010752C Wiring harness adapter SmarTemp Control fx 2.0 

 

 

If you have any questions, contact our technical support team at (800) 860-7866 or via email at:                    
info-us@webasto.com. 

mailto:info-us@webasto.com

